                                                                                                            Name: ____________


Lab 8
Ratios and Proportions

Equipment: color pencils.

1. Amy is preparing drinks for a party. She put 1 cup of red punch and 3 cups of lemon-lime soda in a big beverage dispenser.

a) Color the first cup red the remaining lime-green.
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b) But just before the party starts, several more friends showed up, so she adds 2 more cups of red punch and 2 more cups of lemon-line soda in the same dispenser.

       Color the first 3 cups red and the remaining 5 lime-green



                             2 more                                                           2 more
 Do you think that the mixture will taste the same as before? Why or why not?

 __________________________________________________________________

Will it taste more lemon-lime or punchy in the new drink?

___________________________________________________________________
If she keeps adding equal amount of red punch and lemon-lime soda to the mixture, what simple ratio of (red punch : lemon-lime soda) will the final mixture approach to? 
                        Answer: _______________________________________

2. In order to make an orange paint, you need to mix 9 cups of red paint with 8 cups of yellow paint. Use multiplication and division to fill in the blanks in the table below.


	Cups of red

	9
	1
	
	
	

	Cups of yellow

	8
	
	1
	
	

	Cups of orange


	17
	
	
	1
	20


3. Ken used 3 loads of stone pavers to make a 10-foot-by-10-foot square patio. He wants to make another square patio, this one with 20 feet by 20 feet, so he sets up the proportion
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Is his set up correct? Why or why not?



_______________________________________________________________________
What would be the correct number of loads?  ________________________________

What is the correct setup for the proportion?                             =

4. In a cookie factory, 4 assembly lines take 10 hours to make enough boxes of cookies to 
     fill a truck. 
a)  Peter tried to solve the problem “How long will it take 8 similar assembly lines to make enough cookies to fill up the same truck?” by setting up the following proportion:
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Is he correct? Why or why not?

________________________________________________________________
If not, what is the proper way to do it?

_________________________________________________________________
b) Robyn used the following reasoning to solve this problem: “How long does it take 6 assembly lines to fill up a truck?”
      “4 assembly lines fill a truck in 10 hours, so 8 lines should fill a truck in half that time, so, in 5 hours. Since 6 is exactly half way between 4 and 8, so it ought to take half way between 10 hours and 5 hours, which will be 7½ hours, to fill a truck.”
Robyn’s reasoning seems reasonable, but is it really correct? _______________
c)  Fill in the following table

	Number of hours

	
	
	10
	5
	
	

	Number of lines

	1
	2
	4
	8
	16
	32


    16 is exactly half way between 1 and 32, but is the corresponding numbers of hours 

also exactly half way in between?  ________________
What can you conclude about Robyn’s argument?  _________________
What is the correct way to do this problem and what is the correct answer?

5. At a bakery, 2 people can frost a total of 50 cupcakes in 12 minutes. Assume that all other people will also work at the same steady rate.

  a) Fill in the following table.
	No. of minutes


	12
	12
	12
	12
	12
	12
	12
	12

	No. of cupcakes


	
	50
	
	
	
	
	
	

	No. of people


	1
	2
	3
	4
	5
	6
	7
	8


        Is the relationship between the number of people and number of cupcakes a direct 
        proportion or an inverse proportion?

        ________________________________________________________________
b) Fill in the following table.
	No. of minutes


	
	12
	
	
	
	
	
	

	No. of people


	1
	2
	3
	4
	5
	6
	7
	8

	No. of cupcakes


	50
	50
	50
	50
	50
	50
	50
	50


        Is the relationship between the number of people and number of minutes a direct 
        proportion or an inverse proportion?

        _____________________________________________________________
6. The ratio of Shauntay’s cards to Jessica’s cards is 9 to 5. If Shauntay gives 12 of her cards to Jessica, then the two girls will have the same number of cards. How many cards do the girls have in the beginning?
               Shauntay:



                Jessica:


How many “rectangles” do we have to transfer from Shauntay’s collection to Jessica’s 

collection so that they will have the same number of cards? ________________
How many cards does one “rectangle” represent?  _________________

How many cards do the girls have in the beginning?

                        Shauntay : _____________ ,     Jessica : __________________
7. Whoopiedoo makeup used to be sold in 4-ounce tubes. Now it is sold in 5-ounce tubes for the same price. Alice says the label should read “25% more, whereas Carolyn thinks it should read “20% more.” Who is right, and why?

                          Original size: __________,      New size: __________
                          How much is the difference? ____________________
Should we compare the difference with the new size or the old size? ________________

Why? _______________________________________________________________

Then what should be the correct % of increase? ________________________
8. Matt solved the problem of “The price of a cruise increased by 15%. The new price is 
    $2300. What was the price before the increase?” by the following argument.

                 “10% of $2300 is $230, and 5% of $2300 is $115,

                   hence 15% of $2300 is $230 + $115 = $345.

                   And therefore, $2300 – $345 = $1955 will be the answer.”

   Is his argument correct? _________________

   Why or why not? _______________________________________________________
9. Jeremy wants to buy a pair of $50 pants with a 15% discount coupon.
    a) The cashier Jamie first adds 8% sales tax and then gives him the 15% discount.

         How much does Jeremy have to pay? _________________________________

     b) Jeremy argues that she should first take 15% off from $50 and then add the sales 
          tax.

         If Jamie were to calculate this way, how much should Jeremy pay?

          _____________________________________________________________

       c)Is there any difference between the answers in (a) and (b)? ______________
       d) Is there really any difference to anyone?

             ___________________________________________________________

10.  There are two bottles of orange juice. If 10% of the orange juice from bottle A is 
       poured into bottle B, then the juice in bottle A will be 3 times the amount in bottle B.

       What is the percentage increase of juice in bottle B (after juice was added from bottle 
        A)?
a)    Bottle A :  







b)    Transfer 10% of juice from Bottle A to bottle B.

    Bottle A: 


    


    Bottle B:







c)    Copy all shadings from part (b) above, and then shade more rectangle(s) in Bottle B (in another shade of orange, darker or lighter) so that Bottle A will have exactly 3 times the amount of juice in Bottle B.

     Bottle A:  


      Bottle B:


d) How many rectangles in Bottle B are shaded in the same color as those in Bottle A 

(this represents the juices transferred from Bottle A)? _____________

How many rectangles in Bottle B are shaded in a different color (this represents the 

original juice in Bottle B)?   _____________


What is the % increase of orange juice in Bottle B? _______________
This is 10-by-10.





Draw a 20-by-20 square here.





(shade these rectangles in one color)





(shade these rectangles in another color)





(shade these rectangles in orange)





(transfer 10% of shading from A to B, assuming B is empty first)





(shade 90% of these rectangles in orange)
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